7N

Casters Ultrafryer.
/ Systems
Fryer

28015- Caster, 4 w/Brake
28016- Caster, 4” w/o Brake

Hardware:

27034- Bolt, Hex Head 3/8-16 x 1”
27051- Nut, Self Locking 3/8 x 16 e >
27046- Washer, Flat S/S 3/8-10 x 3/4 OD e ="

19675- Plate, Shim/Raiser
(placed in between caster and plate, to raise fryer)

Filter Tub
28A013- Caster, 2”

Hardware:
27020- Screw, Truss SLT HD 10-24 x 1/2 S/S

27018- Washer, Flat S/S #10 3/16
27021- Nut, Nylon Lock 10-24

Batter Cart
28006- Caster, 4’w/o Brake

Hardware:

27083- Bolt, Hex Head 1/4-20 x 3/4”
27032- Washer, Flat S/S 1/4 x 11/16”
27264- Nut, Acorn 1/4-20 S/S

22006- Roller, Side Mount+not shown
Hardware:

27020- Screw, Truss SLT HD 10-24 x 1/2 S/S
27011- Washer, Lock 1/4

27021- Nut, Nylon Lock 1/4

18 4/15/10



